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8.  ½                                9.    32 =+ yx  
 
10.  0.1136  rad/sec        11.   0.3  m/sec 
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16.  Increasing on  ( 2, 4 ) 
       Decreasing on  ),4(,)2,( ∞−∞  
 
17.  Relative max  (1, 2 )   
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22.  a)  critical points  ( -1, 4 )  ( 1, 0 ) 
             inflection point  ( 0, 2 ) 
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Inflection points: )0,(π , (1.82, 1.45), (4.46, -1.45) 

            
 

c) Critical points  ( 0, 0 ) ,  ( 2, 4 ) 
No inflection points 

 
 
23.  50 m   by  75 m  ,     300 m of fencing 
 
24.  0.65 ft  by  0.65 ft  ,   volume =  6.3  cu. ft. 
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27.  0.27  cu. cm. 
 
28.  a)  1.975                 b)  4.00417 
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35.  a)  0.509                     b)  1.896 
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44.   4.64 hours 

 


